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1x5=5

1. Answer the following questions :

() What symbol is used at the end of every
C statement?

(b) What is the output produced by the
following program segment?

int x;
x = 2;
x=4;
x =1

printf (“%d %d %d”, x, X, X);

8P/494 ( Turn Over)



(2)
Which
of
multiplication visian o 1 |
o ators
S I division hag the highe;
What is
: mean
v t by declaration of a
Write i '
vanab;:v; ;hﬁ'erent Ways to multj
: Y Y, placing the result
2. Answer
Whthe following Questions -
at is ' | -
e modulusg operat;
orles Or and how qge
What are.
| - the rules for Naming
at is the B
. g - pu
function? Give anrpose of the str
€xamplje, i

What
. 18 th .
OPeration . between
s? Post-increment
AnSWer
any ¢
hree of the fo)) win
g que
) Wi stions
te a ¢
amoypt r?gram to ca
account lnterest o Culate the
g the f‘Orm::laa bank
l= p (1 + r)d -

R e RS

T

(i) Write a C pr

(9,
o &Lﬁ:\

RS

(i) Write a C

o

S S

s

s

(38)

{is the total interest earned, pis the
principal (the amount originally
deposited in the account), r is the
rate of interest as a decimal less
than 1 (for example 12 percent is
expressed as 0-12), and d is the
number of days the money is

earning interest.

ogram to find the

Fibonacci series up to 21 using

recursion.

(i) Write a C program to find the sum
of the following series :
1,11 1. 1
The value of N should be entered
through keyboard.
prOgram"'to find the sum
of all the digits of a positive
nu_mber.

(i) Write a C program to find the
transpose of a two-dimensional
array. For example, given the array :

15 7 8
9 2 4
1 6 4
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( Discrete Structures )
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1. Answer the following questions as directed :
1x6=6

(@) The total degree of an isolated node is

( Fill in the blank )

(b) Power set of the null set ¢ has-only the

element ¢.
( Write True OT False )

() Define a null graph.

(d The cardinality of a power S¢

of cardinality n is :
( Fill in the blank )

t of a set S

AB)u C is (AuB)N C.

(e) The dual of (A
( Write True oOF False )

() A set A is called a propet subset of 2

set B if Ac B and A#B.
( Write True of False )
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4. Answer any five of the following questions :
10x5=50
(@) () Define symmetric relation with
example. 4
(i) Solve the recurrence relation
Gry2 '_3ar+l +2a, =0
the method of generating

by
function with the initial conditions
ay =2 and a; =3. ' 6
(b) () Define connected and disconnected
' 4

graph.
(i) Show that the su
the vertices in a grap
() What is meant by minimum spanning
tree? Find the minimum spanning tree
of a graph G : 3+7=10

m of degree of all
h G, is even. 6

Give an example of a relation which
is symmetric and transitive b}lt
neither reflexive nor anﬁsymmem& |

@
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Solve the reécurrence relation

Fo =5F,_; -6F,_

2
where F =1 ang Fy =4,
(e) () Explain complete ang bipartite |
graph.
(i) Prove that Mmaximum degree of any
vertex in g Simple graph having i
n vertices is n—1 |
(" () Prove that the relation
R=2,23),q 3
on et A=({1, 2, 3} s transitive, 6
() Define 1somorphic 8raphs with
€xample 4
@ @) What ape disjoint sets?  Give
€Xample, _ 4
(@) Show the differenceg between
SYMmetric  gny anti-symmetric
relation with €xample 6
one example j, €ach cage 5x2=1
i) Multigraph
@) Cut Pointg
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